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There is PQ axis in such a way that P is in north and Q is in 
south direction. There is RS axis in such a way that R is in west 
direction and S is in east direction. PQ axis and RS axis intersect 
at a point X in such a way that PX is 20 m, XQ is 23 m, XR is 19 
m, XS is 31 m.

Car A starts from point R and travels 28 m in south direction and 
then it takes a left turn and travels 45 m. Car B starts from point 
P and travels 26 m in east direction. Car C starts from point S 
and travels 7 m in north direction and then it takes a left turn 
and travel 5 m and again it takes a left turn and travels 30 m.

PQ अक्ष इस प्रकार है कक P उत्तर में है और Q दक्षक्षण ददशा में है। RS अक्ष
इस प्रकार है कक R पश्चिम ददशा में है और S पूर्व ददशा में है। PQ अक्षऔर
RS अक्ष एक ब िंदु X पर इस प्रकार प्रतिच्छेद करिे हैं कक PX 20 मीटर, XQ 
23 मीटर, XR 19 मीटर, XS 31 मीटर है। कार A ब िंदु R से शरुू होिी है और
दक्षक्षण ददशा में 28 मीटर िलिी है और किर र्ह  ाएिं मुड़िी है और 45 
मीटर की यात्रा करिी है। कार B ब िंदु P से शरुू होिी है और पूर्व ददशा में 26 
मीटर िलिी है। कार C ब िंदु S से शरुू होिी है और उत्तर ददशा में 7 मीटर
िलिी है और किर र्ह  ाएिं मुड़िी है और 5 मीटर की यात्रा करिी है और
किर से  ाएिं मुड़िी है और 30 मीटर की यात्रा करिी है।
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What is the shortest distance between the final positions of car A and car B?
A 35 m
B 42 m
C 46 m
D 48 m
E None of these
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Which of the following expressions is definitely true if the expressions A ≤ B 
and C ≥ D are definitely true? 
a) A = D ≤ E = C ≥ B 
b) B = C ≥ E ≤ A = D 
c) A ≤ D = E ≤ C = B 
d) B = C ≥ E = D > A 
e) A ≤ C < E = B ≤ D
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Which of the following set of symbols should be placed in the place of question 
marks respectively (in the same order from left to right) in order to complete 
the given expression in such a manner that S < L as well as T ≤ M are definitely 
true? ? < ? = ? ≤ ? < ? 
a) S, T, N, M, L 
b) S, M, N, T, L 
c) L, T, N, M, S 
d) L, M, S, N, T 
e) None of these
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Which of the following pair of symbols should be placed in place of 
question marks respectively (from left to right ) in order to complete the 
given expression in such a manner that P ≥ R < U is definitely true? 
U > T ? S = R ? Q ≤ P 
a) ≥, < 
b) >, ≤ 
c) ≤, ≤ 
d) >, < 
e) None of these 
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. In Which of the following expressions does the expression ‘T>G’ definitely hold true? 
a) A ≥ T ≤ G = P < K ≤ M 
b) S ≥ T ≥ V = G ≤ B ≥ K 
c) T ≥ L = M ≥ S = G ≤ Y 
d) G < A = K < T ≤ S ≤ L 
e) L ≥ B = G ≥ N = Y ≥ T
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Which of the following would replace * and @ in the following expression so that V > T 
does not holds true? V > Z * X = W; T < U = Y @ W 
a) >, ≥ 
b) ≥, < 
c) ≥, ≤ 
d) >, <
e) None of these
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